SAMPLE PAPER
MATHS

Q1 Number name for 6,83,097 is ?

(a) Six lakh eighty three thousand ninety seven
(b) Six thousand ninety seven

(c) Six lakh ninety seven

(d) Sixty thousand eight hundred ninety seven

Q2 Numeral for- Ninety thousand ninety nine is

(a) 9099
(b) 90099
(c) 999
(d) 99999

Q3 Sum of the greatest four digit number and smallest three digit number is

(a) 1099
(b) 10099
(c) 100999
(d) 199

Q4 The population of a city is 10000. If number of women are 5000 and number of men are
2000 then find the number of children?

(a) 4000
(b) 3000
(c) 5000
(d) 2000

Q5 Write the fraction for the following

-

(a) 1/2
(b) 3/8
(c) 5/8

(d) 2/8



Q6 Find the correct number
4/7=?/14

(a)
(b)
(c)
(d)
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Q7 If the capacity of a cup is 50ml then what is the total capacity of 20 cups?

(a) 11

(b) 500 ml
(c) 750 ml
(d) 250 ml

Q8 A thin wire 40 cm long is converted into a rectangle . If the length of this rectangle is 12 cm.
What will be its width?

(a) 12 cm
(b) 9cm
(c) 10 cm
(d) 8cm
Q9 695 is divisible by ?
(a) 2
(b) 3
(c) 5
(d) 6
Q10 4,6,8,9,10,12 are numbers
(a) Odd
(b) Prime
(c) Even

(d) Composite

Q11 What will be the time in the clock when they make an angle which is more than a right
angle ?

(a) 3 pm
(b) 11 pm



(c) 5pm

(d)  2pm
Q12 The diameter of a circle is times its radius.
(a) 2
(b) 3
(c) 4
(d 5

Q13 The predecessor of 1090 is

(a) 1091
(b) 1089
(c) 1092
(d) 1080

Q14 Ram buys a car for Rs 1500 and repairs it at a cost of Rs 500. After repairing Ram sell this
car to Shyam for Rs 2100. What loss/profit does Ram incur?

(a) Rs 100 profit
(b) Rs 100 loss
(c) Rs 50 profit
(d) Rs 50 loss

Q15 Find the number of square tiles of size 10 cm required for covering the floor of a room 15
m long and 6 m wide?

(a) 900
(b) 9000
(c) 1000
(d) 6000

Q16 Gita scored 400 marks out of 500. What is the percentage of marks scored by her?

(a) 95%
(b) 85%
(c) 80%
(d) 80.5%
Q17 Simplify:

12-8+4+3x2



(a) 14

(b) 16

(c) 7

(d) 15
Q18 18%=

(a)  18.009

(b)  18.09

(c) 18.9

(d) 1809

Q19 Nitin travelled a distance of 240 km by car in 4 hours. Find the speed of the car?

(a) 60 km/h
(b) 70km/h
(c) 50 km/h
(d) 80 km/h

Q20 What is the difference between the place value of two 5’s in the number 583517?

(a) 49850
(b) 49950
(c) 49500

(d) 49550



